o=Taloilelsl] Cambridge International Examinations
CQEIEN  Cambridge International Advanced Subsidiary Level

AS Level

CHINESE LANGUAGE 8681/22
Paper 2 Reading and Writing October/November 2016
MARK SCHEME

Maximum Mark: 70

Published

This mark scheme is published as an aid to teachers and candidates, to indicate the requirements of the
examination. It shows the basis on which Examiners were instructed to award marks. It does not indicate the
details of the discussions that took place at an Examiners’ meeting before marking began, which would have
considered the acceptability of alternative answers.

Mark schemes should be read in conjunction with the question paper and the Principal Examiner Report for
Teachers.

Cambridge will not enter into discussions about these mark schemes.
Cambridge is publishing the mark schemes for the October/November 2016 series for most

Cambridge IGCSE®, Cambridge International A and AS Level components and some Cambridge O Level
components.

® IGCSE is the registered trademark of Cambridge International Examinations.

This document consists of 14 printed pages.

CAMBRIDGE

Y International Examinations [Turn over

© UCLES 2016



Page 2 Mark Scheme Syllabus | Paper

Cambridge International AS Level — October/November 2016 8681 22

General Marking Principles

1.1

Please note that it is not possible to list all acceptable alternatives in the Detailed Mark Scheme
provided on the following pages. You will need to consider all alternative answers and
unexpected approaches in candidates' scripts, make a decision on whether they communicate
the required elements, in consultation with the Principal Examiner if necessary, and award marks
accordingly.

1.2

Crossing out:

(a) If a candidate changes his/her mind over an answer and crosses out an attempt, award a
mark if the final attempt is correct.

(b) If a candidate crosses out an answer to a whole question but makes no second attempt at it,
mark the crossed out work.

1.3

Annotation used in marking:

(a) BOD = Benefit of the Doubt and is used to indicate material considered by the Examiner and
judged to be more correct than incorrect: the benefit of the doubt is given to the candidate
and the mark is awarded.

(b) NBOD = No Benefit of the Doubt and is used to indicate material considered by the Examiner
and judged to be more incorrect than correct: the benefit of the doubt is not given to the
candidate and the mark is not awarded.

(c) caret = to indicate where something which is key to the response is missing.

1.4

No response and '0' marks

Award NR (No Response):

e If there is nothing written at all in the answer space or

e If there is only a comment which does not in any way relate to the question being asked (e.g.
'‘can’t do' or 'don’t know') or

e If there is only a mark which isn’'t an attempt at the question (e.g. a dash, a question mark).

Award O:

e |f there is any attempt that earns no credit. This could, for example, include the candidate
copying all or some of the question, or any working that does not earn any marks, whether
crossed out or not.
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Detailed Mark Scheme

Question 1

Section 1

Accept

Reject

Mrk

Minor character errors in transcription
(missing or additional strokes) provided
that the meaning is clear and that a
different character is not created.
Minor omissions in the body of the

phrase.

(a)

R

(1]

(b)

TR

(1]

(c)

F A

(1]

(d)

N

P izt

[1]

(e)

o (#9)

AL/ Tk LA AL T

(1]

Total

[5]

© UCLES 2016




Page 4

Mark Scheme

Syllabus

Paper

Cambridge International AS Level —

October/November 2016 8681

22

Question 2

Candidates either get full marks for each question or zero. No partial marks are awarded.

The following are examples of the way in which answers could be expressed. Answers should
retain the same meaning and contain all the necessary elements of the phrase to be reworked.

Qnr

Accept

Reject

Mrk

(a)

BAR P B 220114 FF 45 /2 — s\ 3139 P 52
HmEBIRA 2R XK (7)) Tk

P &R A2011 S5 T4 £ — N 39 T SR
WA, B RAKE (Fr) MR

BRARMF AR, 2R b B E2011 55
o fe— SN I PR AAIR A

[1]

(b)

FIRBE ST A sk Aag L (FTVA) ¥ KA
BT,

AR I VABR XS st AE XY K A BT,

[2]

(c)

AEREEE, AN L3957 4ain & %
A—FEANETHITH,

A E Rie e N5 P F R B A —FE
ANETWHITAH,

A e B FAe A 0 3 B A 8 A iR — AP
FAFTHITA

A E Kk p e A MR —EA
%‘aé/‘j'fi‘%jo

[2]

Total

[5]
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Question 3

Lifting = a whole sentence taken from the text will usually invalidate an answer unless further
original explanation is offered.

If (and only if) all the words in the reject column appear in the answer unchanged, reject as a ‘lift’.
Annotate this using the LM stamp (Lifted Material).

It is not uncommon for candidates to ‘lift’ and then go on to rephrase acceptably, in which case
indicate the lift using LM stamp but reward the rephrase.

(@) FEBUFRAM AT &EHEMW?

Accept Reject Mrk

A | HF The long lift should be rejected: [1]
[AxE, BUFBEIHE RIEHTEMES

Kk, ]

B | #27 & mis [5kRn, ekt sean |

# BB FALEY ik, AR FRAT
C | ¥ hoim E 4% %8 R AR . ] [1]

Total [3]
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(b) #FHHLZBAH2EBKETA@EIR?
Accept Reject Mrk
L The long lift should be rejected:
A | T EA [1]
[XHFETRARTEA, MEAFTHT—
. KREETT R A
B | 4 Es7% A R (1]
[KZk#, RABFLEHKE, T4
T T EIRAGEKR, HMNGEERERS
C | 3% THLAMY IR 094 5 BB To (]
R TAERE
Total [3]
(c) EFHB®Z, AHLAAHARIELKEM?
Accept Reject Mrk
. o . The long lift should be rejected:
A | FRIRARBERE/ F LR [1]
[Rd, HOBKIFEARIZSEITA
w22 F BIANR T %, 542
B | i A %] ARG A R, WAEMRE, “XBRIAR [1]
A ]
Total [2]
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(d) AH 2 FPEEMEGKX R RIRZA?
Accept Reject Mrk
The long lift should be rejected:
AAT A 2R AR 69 IR AL TN IR TS5 ‘ [1]
[ AT ARG R E IR, BA &
RE|ZFMAFEG ST, &AM
AN =FMRFAT THRANR | 2 EH AT, HARBRE B4
Ho ] [1]
X+ A% ) B 69 IR
(b, HTFREHRAMRT, HBEOGH
IR AR T ARS8/ FBRF | BRTIARTE, ] [1]
Total [3]
(e) FEFF “AZILM” ,
Accept Reject Mrk
e W The long lift should be rejected:
RBA) BB/ B Ao A AT RIS 1l
(BN RIR/FEH W [1]
AT REANEE Total | [2]
() *b—T AR ERGAIN BN S K
Accept Reject Mrk
AFYE, BMELZ—FAXFTX/PH The long lift should be rejected:
AINABIRTT AIE R g, HRES \ [1]
7 A BIR A —FP AL T K
- e [(MmAaREER, AL PTamEE
s F] R # g R 8 AN
AEATHARATAEATC/ I | 4y g agewin, BERA | [
THAIE R 2 &
AL ]
Total [2]

© UCLES 2016




Page 8 Mark Scheme Syllabus | Paper

Cambridge International AS Level — October/November 2016 8681 22
Quality of Language — Accuracy (Questions 3, 4 and 5) [5]
5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more
complex structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical
elements in spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some
problems in forming correct agreement of adjectives. Difficulty with irregular verbs, use of
prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor

Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

Additional marking guidance for Quality of Language — Questions 3 and 4:

The five marks available for Quality of Language are awarded globally for the whole performance on
each set of answers.

A concise answer, containing all mark-bearing components for Content is scored on the full range of
marks for language, i.e. length does not determine the Quality of Language mark.

Identify the answer(s) scoring O for Content in the whole set of answers. Then add together the
number of Content marks available for each of these questions and reduce the Quality of Language
mark according to the following table:

Total Content marks available on questions Reduce Quality of Language mark by:
where a candidate scores 0
2-3 1
4-5 2
6-7 3
8-14 4
15 5

Note: A minimum of one mark for Quality of Language should be awarded if there are any Content
marks at all (i.e. 0 Quality of Language marks only if 0 Content marks).

[Total: 20]
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Question 4
Mark as Question 3
(@) HH—HIARALATEM MR .
Accept Reject Mrk
A | FHREH B [1]
The long lift should be rejected:
(IR B AT R 89 7 2 A7 0 & R AR
B | AP /M4 RAGIRIRME S R, LE RKRALATAY [1]
EH—ARFRE, BE&E—RES
AT ]
C | A—RMARENAE [1]
Total [3]
(b) EHFREMA A EMEER?
Accept Reject Mrk
A | EAFEMEHT [1]
The long lift should be rejected:
; [F, ZWMAELENEE, H£E%
B /?i‘ ?@ t T . ’ . ’ N 1
& LR EAMEAELEF LR LB HET, il
W B % AR KAZ B LR EAT AR ]
C | ABITAHEX [1]
Total [3]
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(c) LFARAEEARR T AMER?
Accept Reject Mrk
The long lift should be rejected:
A | ANMREARG DTSR ZFREAAMBRE LG R E [1]
I RIF8TE . ]
B | A AR RTG53 S At (A E KNG, EFRSELR [1]
FETE, AMGREZRLEZR
o ]
C | REETFTRS [1]
D | #EAAMGIE R ZIR [1]
Total [4]
(d) #F T A ANVERBAS 77 & Mk A4 R Gy 452
Accept Reject Mrk
The long lift should be rejected:
A |5 FNEE T . 1
RTHOE 2 (AL, HARADAMELRA | )
AMBNEAE S R4 RO, ARS
£ F R R ) & A A% PR BB ) R 4B B AR, ]
B VIS . [1]
L AN IR B BIRE & &M
LS TR T .
Total [2]
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(e) EHAEHVF R Aot R?
Accept Reject Mrk
The long lift should be rejected:
A | FenE S FEETAREIIR [1]
[FRAEK—TEEELSE, FHH
VEEAR T AR IR, SRR BRATEY
B | AR EHFHIAIIE PAJR, AALIZHAGHERAE, A [1]
R, ]
C | 1a#% %R FARBAFAY A E IR [1]
Total [3]
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Quality of Language — Accuracy (Questions 3, 4 and 5) [5]
5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more
complex structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical
elements in spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some
problems in forming correct agreement of adjectives. Difficulty with irregular verbs, use of
prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor

Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

Additional marking guidance for Quality of Language — Questions 3 and 4:

The five marks available for Quality of Language are awarded globally for the whole performance on
each set of answers.

A concise answer, containing all mark-bearing components for Content is scored on the full range of
marks for language, i.e. length does not determine the Quality of Language mark.

Identify the answer(s) scoring O for Content in the whole set of answers. Then add together the
number of Content marks available for each of these questions and reduce the Quality of Language
mark according to the following table:

Total Content marks available on questions Reduce Quality of Language mark by:
where a candidate scores 0
2-3 1
4-5 2
6-7 3
8-14 4
15 5

Note: A minimum of one mark for Quality of Language should be awarded if there are any Content
marks at all (i.e. 0 Quality of Language marks only if 0 Content marks).

[Total: 20]
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Question 5:

Length of 5(a) + 5(b) (Summary and Personal Response)

Writing within the character limit is part of the task, and candidates who remain within the limit (200
characters in total) deserve credit.

Insert a slash / after the 240th character to show the end of the response to be marked

Content marks: Summary [10]

The summary could include the following points (award 1 mark for each point covered up to a
maximum of 10 points).

[Text 1]

1. 3= HIHOR 9 AL T30 5| AL & 4G X U2/ 2R R & R U AR S AR

2. BUFBAHKF/ B/ REFHEEER

3. BT AL E A

4. THEITRRA

5. R AMNAERE

6. f&MIREIE G AR K AR ALE F X

7. BANBIREGE N LR GL/ IR FIRB| B F

8. AR E KA B E KT —HF

[Text 2]

9. MAARWAE, AN EENIGRIEZ &/ AR EIG Z LAt oy R —HF

10. Z40H A B89 R H R 22 — R a9 X453k

11, 2250 KR AT AT T AR RAF B/ 42 5 R —AR TS A R Y9 Ak

12, 3T RAL B IR K% om0 RBH /3 F e & — S AFHIN GG LB/ 3 P & — AN AT IR BB ] 49 £ A2

13. R B REEZNFT S S5 F

14. R X KEZEEFLMEFVF R/ FDFEVFELRIERE IR/ TFFVFARARRIFHL
A IR/ L F Y F TG KR
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Content marks: Response to the Text [5]

Marked like a mini-essay according to the variety and interest of the opinions and views expressed,
the response to the original text stimulus and the ability to express a personal point of view.

5 Very good
Varied and interesting ideas, showing an element of flair and imagination, a capacity to express
a personal point of view.

4 Good
Not the flair and imagination of the best candidates, but work still shows an ability to express a
range of ideas, maintain interest and respond to the issues raised.

3 Sound
A fair level of interest and ideas. May concentrate on a single issue, but there is still a response
to ideas in the text.

2 Below average
Limited range of ideas; rather humdrum. May disregard the element of response to the text,
and write a largely unrelated free-composition.

0-1 Poor
Few ideas to offer on the theme. Banal and pedestrian. No element of personal response to
the text. Repeated error.

Quality of Language — Accuracy (Questions 3, 4 and 5) [5]

5 Very good
Consistently accurate. Only very few errors of minor significance. Accurate use of more
complex structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical
elements in spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some
problems in forming correct agreement of adjectives. Difficulty with irregular verbs, use of
prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

[Total: 20]
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